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QID : 101 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

It was (1)/ difficult decided (2)/ about break up. (3)/ No error (4)
Options:

Correct Answer: 2
Candidate Answer: 4

QID : 102 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

In June 2017, an anodyne footnote to the Bank of Baroda's (BoB) quarter results mentioned a (1)/ fine levied by the South African Reserve Bank (SARB), (2)/
headquartered in Pretoria. (3)/ No error (4)

Options:

1)1

2)2

3)3

44

Correct Answer: 1

Candidate Answer: [ NOT ANSWERED ]

QID : 103 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

| am awful picking vegetables.
Options:

1) for

2) at

3) of

4) as

Correct Answer: at

Candidate Answer: of

QID : 104 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

The demand of self-esteem is that never stand
Options:

1) abetting

2) begging

3) caging

4) daring

Correct Answer: begging

Candidate Answer: [ NOT ANSWERED ]

for what you have the power to earn.

QID : 105 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Imitate

Options:

1) Reverse

2) Ape

3) Clash

4) Repulse

Correct Answer: Ape

Candidate Answer: [ NOT ANSWERED ]


http://thepracticetest.in/cs_chsl_18/logout.php?appid=1368062d74107fc05177712c90c3885c
http://ssconline.nic.in/challengesystem/sendrollno.jsp?rollno=2405145457&scode=104&key=87863e521fad0626b8cda7accb4b17d2
Administrator
Typewritten Text
SSC CHSL 2017 - 5 March - 3rd Shift


www.makemyexam.in - Powered by IBT

QID : 106 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Incumbent

Options:

1) Increase

2) Redundant

3) Choice

4) Required

Correct Answer: Required

Candidate Answer: [ NOT ANSWERED ]

QID : 107 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Inept

Options:

1) Clumsy

2) Artless

3) Inadept

4) Skillful

Correct Answer: Skillful

Candidate Answer: [ NOT ANSWERED ]

QID : 108 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Meek
Options:

1) Quiet

2) Moderate
3) Assertive
4) Humble

Correct Answer: Assertive
Candidate Answer: [ NOT ANSWERED ]

QID : 109 - Rearrange the parts of the sentence in correct order.

Some modern anthropologists hold that
P : but also human behaviour

Q : biological evolution has shaped
R : not only human morphology
Options:

1) QRP

2) RQP

3) PQR

4) PRQ

Correct Answer: QRP

Candidate Answer: QRP

QID : 110 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

Ram loves Sita.

Options:

1) Sita was loved by Ram.
2) Sita is loved by Ram.
3) Sita loves by Ram.

4) Sita loved by Ram.

Correct Answer: Sita is loved by Ram.
Candidate Answer: Sita loved by Ram.

QID : 111 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

The teacher said, “The moon goes round the earth.”

Options:

1) The teacher said that the moon goes round the earth.

2) The teacher asked whether the moon goes round the earth.
3) The teacher informed about moon going round the earth.
4) The teacher asked whether moon goes round.

Correct Answer: The teacher said that the moon goes round the earth.
Candidate Answer: The teacher said that the moon goes round the earth.

QID : 112 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Curosity

2) Curoucity

3) Curiosity

4) Cuoisity
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Correct Answer: Curiosity
Candidate Answer: Curiosity

QID : 113 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Some with natural would love to be in a scenic view and stare out of the window. Those nestlings could one day become a great biologist a
wildlife photographer or landscape artist to earn fame. Some always love to chit-chat with friends or family: encourage them so they have the ability to Lt
is a gift verbal or linguistic creativity when they can tell stories, write essays, and converse easily with people. This opportunities to them to be

an orator, writer, poet, scholar or teacher.

Some with natural would love to be in a scenic
Options:

1) create

2) creation

3) creativity

4) creating

Correct Answer: creativity

Candidate Answer: creativity

QID : 114 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Some with natural would love to be in a scenic view and stare out of the window. Those nestlings could one day become a great biologist a
wildlife photographer or landscape artist to earn fame. Some always love to chit-chat with friends or family: encourage them so they have the ability to Lt
is a gift verbal or linguistic creativity when they can tell stories, write essays, and converse easily with people. This opportunities to them to be

an orator, writer, poet, scholar or teacher.

great biologist a wildlife photographer
Options:

1) nor

2) but also

3) but

4) or

Correct Answer: or

Candidate Answer: nor

QID : 115 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Some with natural would love to be in a scenic view and stare out of the window. Those nestlings could one day become a great biologist a
wildlife photographer or landscape artist to earn fame. Some always love to chit-chat with friends or family: encourage them so they have the ability to Lt
is a gift verbal or linguistic creativity when they can tell stories, write essays, and converse easily with people. This opportunities to them to be

an orator, writer, poet, scholar or teacher.

the ability to .ltisa
Options:

1) narration

2) narrating

3) narrate

4) narrator

Correct Answer: narrate

Candidate Answer: narrate

QID : 116 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Some with natural would love to be in a scenic view and stare out of the window. Those nestlings could one day become a great biologist a
wildlife photographer or landscape artist to earn fame. Some always love to chit-chat with friends or family: encourage them so they have the ability to Lt
is a gift verbal or linguistic creativity when they can tell stories, write essays, and converse easily with people. This opportunities to them to be

an orator, writer, poet, scholar or teacher.

gift verbal or linguistic creativity
Options:

1) at

2) from

3) so

4) of

Correct Answer: of

Candidate Answer: at
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QID : 117 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Some with natural would love to be in a scenic view and stare out of the window. Those nestlings could one day become a great biologist a
wildlife photographer or landscape artist to earn fame. Some always love to chit-chat with friends or family: encourage them so they have the ability to Lt
is a gift verbal or linguistic creativity when they can tell stories, write essays, and converse easily with people. This opportunities to them to be

an orator, writer, poet, scholar or teacher.

This opportunities to them
Options:

1) opens

2) open

3) opening

4) opened

Correct Answer: opens

Candidate Answer: [ NOT ANSWERED ]

QID : 118 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

A walk of life

Options:

1) An easy comfortable life not necessarily prosperous.

2) The most important day of your life.

3) A person's occupation or position within society.

4) Walking is the best form of exercise.

Correct Answer: A person's occupation or position within society.

Candidate Answer: [ NOT ANSWERED ]

QID : 119 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Cut to the chase

Options:

1) Come to the point.

2) To run after somebody.

3) To cut out the important bits of information.
4) To take a short cut.

Correct Answer: Come to the point.
Candidate Answer: Come to the point.

QID : 120 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

Having a limited or narrow outlook or scope
Options:

1) Indulgent

2) Parochial

3) Egotistical

4) Liberal

Correct Answer: Parochial

Candidate Answer: [ NOT ANSWERED ]

QID : 121 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

Well chosen or suited to the circumstances
Options:

1) Bias

2) Disparity

3) Asperity

4) Felicitous

Correct Answer: Felicitous

Candidate Answer: [ NOT ANSWERED ]

QID : 122 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement
is needed, select "no improvement".

| understood that we (is influenced) by what we see, what we hear.
Options:

1) was influenced

2) are influence

3) are influenced

4) no improvement

Correct Answer: are influenced
Candidate Answer: no improvement

QID : 123 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement
is needed, select "no improvement".

Tunnels (is built) to connect houses and places of worship whereas innovative trick doors were attached to the underground cities.
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Options:

1) was built

2) were built

3) were building

4) no improvement

Correct Answer: were built
Candidate Answer: were built

QID : 124 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

I belong to the Indian

A-fare concession (LFC), | have a fair
B-banking family, and thanks to the leave
C-share of travelling experience

Options:

1) ACB

2) ABC

3) CAB

4) BAC

Correct Answer: BAC
Candidate Answer: BAC

QID : 125 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) distilation

2) distillation

3) destillation

4) destilation

Correct Answer: distillation
Candidate Answer: distillation

QID : 126 - In the following question, select the related word pair from the given alternatives.

frfafea uer & Ry 1y foredt & § T&fda e gm &t ghgl

AT :ER::?7:?

Options:

1) Pedal : Rotate
usd ; gEAT

2) Student : Study
et : e

3) Car : Steering
et R

4) Needle : Clock
TSt

Correct Answer: Needle : Clock

g gt

Candidate Answer: Needle : Clock

g gt

QID : 127 - In the following question, select the related number from the given alternatives.
59:62::66:7

ffafEa uy 8 Ry g faeredt & @ wefa e @t gl

59:62::66:7

Options:

1) 67
2)71
3)69

4) 70
Correct Answer: 69
Candidate Answer: 69
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QID : 128 - In the following question, select the related letter pair from the given alternatives.
HFZ:LJD::? : ?
fafafea vy § Ry g fored & @ defda srer g &t gHg)

HFZ:LJD::? : ?
Options:

1) KTM : OXQ

2) KBN:LCO

3) BHO : DJQ

4) FKU : INX

Correct Answer: KTM : 0XQ

Candidate Answer: [ NOT ANSWERED ]

QID : 129 - In the following question, select the odd word pair from the given alternatives.

frfafea v & Ry 1y foeredt & 9 fwm sreg gm &t gfg)
Options:

1) Sister — Brother

g - TS

2) Son - Friend

o - o

3) Father — Daughter

o — oot

4) Mother — Son

HIdT - 9

Correct Answer: Son - Friend
o - s

Candidate Answer: Son - Friend
o -

QID : 130 - In the following question, four number pairs are given. The number on left side of (=) is related to the number of the right side of (=) with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

2 g Mg v B, IR S gm Ry g €1 (-) & arff ok & g () & arf ofik & 1 deen @ adh/fem § awifdd &1 i 3T ues adh/ e & e W wwE 81 Ry g feedt § @
o=t gfAg

Options:

1)15- 225

2) 25 - 625

3)35-1225

4) 45 - 2525

Correct Answer: 45 — 2525

Candidate Answer: 45 — 2525

QID : 131 - In the following question, select the odd letter/letters from the given alternatives.

et o & g q Reredt & & fwm srer/sert &t g

Options:

1) ADG

2) HKN

3) RUY

4) GJM

Correct Answer: RUY
Candidate Answer: RUY

QID : 132 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Sonorous
2. Sometimes
3. Somber

4. Solution

5. Solve

frfafer real T QTegahial H o1 aTet 3 & SR ford |

1. Sonorous
2. Sometimes
3. Somber

4. Solution

5. Solve
Options:

1) 42513

2) 45321

3) 12543

4) 32415

Correct Answer: 45321
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Candidate Answer: 45321

QID : 133 - In the following question, select the missing number from the given series.
2187,729, 243, 81, 27,?
FfafEa vy 8 Ry 7 et & @ o ofe 31a Siforg

2187,729, 243, 81, 27,7
Options:

1)10

2)9

3)13

4) 11

Correct Answer: 9
Candidate Answer: 9

QID : 134 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
BKP, EMQ, IPS, NTV, ?
Teh S1gehH foam T 8, Fored & o Ue g 81 feg g Rrenedl # 4 a8 I8t fashed 9fAg, STt Srgshn ol T R

BKP, EMQ, IPS, NTV, ?
Options:

Correct Answer: TYZ
Candidate Answer: TYZ

QID : 135 - In a row of trucks, Ashok is at 17th position from the left end. Bharat is 19 places to the right from Ashok and is at the exact centre of the row. How many
trucks are there to the right of Ashok truck?

! hl Tk Uf<h H, 312 18 B8R § 17-3 WM WR §1 9k, 310 T 19 W7 grff 31k § qum ufeh & Sieh Ae & §1 31=Meh goh o &l iR foha= gah 87
Options:

Correct Answer: 54
Candidate Answer: 54

QID : 136 - From the given alternatives, select the word which CANNOT be formed using the letters of the given word.
Accounting
g g fehedt & @ T 2rea GG St G 7Y 2rea & S1&RT ST TRINT ek @l ST S HehdT 3

Accounting,

Options:

1) Count

2) Actually

3) Acting

4) Ant

Correct Answer: Actually
Candidate Answer: Actually

QID : 137 - In a certain code language, “MAYOR” is written as “NBZPS". How is “PLAYER” written in that code language?

U fAfe e wrom &, “MAYOR” @i “NBZPS” foraT STTar &1 39 &his Ao # “PLAYER” &t forg UepR forar sirgem?

Options:

1) QBFTRZ
2) ZRBMQF
3) QMBZFS
4) RBMQFS

Correct Answer: QMBZFS
Candidate Answer: QMBZFS

QID : 138 - In a certain code language, 'x' represents '+, '+ represents 'x, -' represents '+' and '+ represents -'. Find out the answer to the following question.
5+10x21+5-15=7?
Rl FAfd svte T & 'x', '+ Bl TeRId T §, '+, 'x' I UafRId a1 §, -, '+' ol UafTd e & SR '+, ' ot UafRid anear g1 e wst &1 IR 1 sl

5+10x21+5-15="?
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Options:

1) 49

2)2

3) 30

4) 24

Correct Answer: 2

Candidate Answer: [ NOT ANSWERED ]

QID : 139 - The following equation is incorrect. Which two signs should be interchanged to correct the equation?
10x4+5-30+6=31
fFrafafEa aefieor Tod &1 39 THte=or st T8t e o forg foha &F gl ot o & sreaT-ageft st anfey?

10x4+5-30+6=31
Options:

1) x and -

X SR -

2)+and-

+ 3R -

3)+and +
+ .

4)-and +

- R+

Correct Answer: x and -
x 3R -

Candidate Answer: x and -
x 3R -

QID : 140 - If 3*1 = 20, 6*1 = 50 and 2*6 = -40, then find the value of 5*8 = ?

afe 3%1 = 20, 6*1 = 50 3R 2*%6 = -40, A 5*8 T A A1d B2
Options:

Correct Answer: -30
Candidate Answer: [ NOT ANSWERED ]

QID : 141 - Which of the following terms follows the trend of the given list?
XYXYXYxY, XYXYXyXY, XYXYxYXY, XYXyXYXY, XYxYXYXY,
frfafea & § &9 91 ug § it &t & o & SIgaR 87

XYXYXYxY, XYXYXyXY, XYXYXYXY, XYXyXYXY, XYxYXYXY,
Options:

1) XXXYYX

2) YYXXXX

3) XYYXXX

4) XXYYXX

Correct Answer: YYXXXX

Candidate Answer: [ NOT ANSWERED ]

QID : 142 - A courier delivery man cycles 6 km South, then turns West and cycles 2 km West, then turns to his right and cycles 6 km, then turns West and cycles 8 km.
Where is he now with respect to his starting position?

Toh RAR et et are st arsfonet & afaior & v 6 fon. . ao ST 8, fiRe a8 ufe &t avws g1 & ik 2 [, & gt aes arsforet Taran g, fiR a8 oom a1fgs are g @
3R it 6 fon.# Y. Y g e ASfoReT Tere &, fthe a8 ufw &t e e & SfR ot 8 foh. . den AsfoheT Tretar &1 Sruet greer fRfa & deiy & ag e gt 82
Options:

1) 10 km West

10 for. =Y. ufgm

2) 6 km West

6 .=, ufgm

3) 10 km East

10 frft. g

4) 6 km East

6 fon.o. gd

Correct Answer: 10 km West

10 fr. Y. ufgm

Candidate Answer: 10 km West
10 for.#Y. ufgm



www.makemyexam.in - Powered by IBT

QID : 143 - In the question two statements are given, followed by two conclusions, | and Il. You have to consider the statements to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: All matchboxes are lighters
Statement Il: Some fire are matchboxes

Conclusion I: No lighters are fire
Conclusion II: All fire are lighters

g A €t A A T € Sk amt &t s | ofR 11 fAerret ma &1 SrmueRt | & o6 g e I & 9ng a8 I A1 el @ O vedta gia gl siaent fofa e & i fig g
et & & eta-a1/-8 RAffa 9 @ SuA gR gt FepTer ST aehdT &/96d €, afe 1S gl

HY | oft i rged g9 €
HY |I: T AT AR g &

R |: i oft e s el gt &
Frseref 11: it 3T eges g &

Options:
1) Only conclusion | follows

e sy | 981 §

2) Only conclusion Il follows
nudts

3) Both conclusions | and Il follow
T s | o 11 98t @
4) Neither conclusion | nor conclusion Il follows

1t freenef | @@t & 1 81 s |1

Correct Answer: Neither conclusion | nor conclusion Il follows

1t s | Tt & A 8 s 11
Candidate Answer: [ NOT ANSWERED ]

QID: 144 -

In the following figure, rectangle represents Film directors, circle
represents Cartoonists, triangle represents Campers and square
represents Cricketers. Which set of letters represents Cricketers who
are also Cartoonists?

frfoflm @l #, Jma fen et & weflla & ¢,
3 FCWEC B TG A ¢, O $9 e A
IR o et 1 velia #ar &1 HeRi 91 F W Ag 3
fopet @ yeRia e § ot g o 87

Cwﬁ’f_}/ A
\3 el k /

Options:
1)1

2)CD
3) HG

4) DE
Correct Answer: HG
Candidate Answer: HG
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QID : 145 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

CAP, AXL, YUH, WRD, ?
ek reRH foam mar 8, O € uak ue g &1 Ry e feredt & & g8 9@t feveu g, St argehd t R

CAP, AXL, YUH, WRD, ?
Options:

Correct Answer: UOZ
Candidate Answer: [ NOT ANSWERED ]

QID : 146 - In the following question, select the missing number from the given series.
59, 68, 78, 89, 101, ?
fafafea vy 8 Ry 7y et & @ g ofe 31 hifsgl

59, 68, 78, 89, 101, ?
Options:

1) 116

2) 114

3)118

4) 120
Correct Answer: 114
Candidate Answer: 114

QID : 147 - In the following question, four groups of three numbers are given. In each group the second and third number are related to the first number by a
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

12 feq 7q e F, i Fmmeil & IR Tig e MY €1 Udeh g § g T 1”1 S Ugel ST 9 fondt Ueh ach/ & wwifia g1 i I gan deh/ e & saR )R a9 M &1 iy
g faeedt 7 @ forg &t gfgl

Options:

1) (4,8,16)

2) (5,10, 20)

3) (6,12, 24)

4) (7,14, 21)

Correct Answer: (7, 14, 21)

Candidate Answer: (7, 14, 21)

QID: 148 -

If a mirror is placed on the line MN, then
which of the answer figures is the right
image of the given figure?

afe v g9or ® MN Y@r o7 & ST &y
It Ieat HRRfE A ¥ Fla-dr IR aee
et &1 /e wiatees gl




Options:
1

2)

3)

4)

38R

Correct Answer:

Candidate Answer:

I8
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QID : 149 -

Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

AT 3ot 3MhfT & & Hi @1 7 o
AT YA WHA A ¥ G o § FAAT AN
ST H/ehl?

O | X

Options:
1)

o0
(o]

O

3

2)

3)

=

4

0
o
NE=\N

Correct Answer:

=]
o
oo

NES\N

Candidate Answer: [ NOT ANSWERED ]
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QID: 150 -
Aword is represented by only one set of numbers as given in any one of the alteratives. The sets of
numbers given in the alternatives are represented by two classes of alphabets as shown in the given
two matrices, The columns and rows of Matrix-l are numbered from 0 to 4 and that of Matrix-Il are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its
column, for example ‘I can be represented by 20, 34 etc and Q' can be represented by 85, 96 ete.
Similarly, you have to identify the set for the word "BANG'.

mammwm.ww@hﬂm%ﬁm%ﬁmﬁﬁwwﬁh
T §1 e # Ry av geaag weRt & o it @ gai o §, S R R
&1 el A §1 aelp F T AR dfFa 1 e o 4311 anegpd sd 98 5
HISE W T IR B Tge 36 Gfad S g A TR TE q@ gl o e 3
FEERT & 70 /' S 20, 34 I1fE TAT G S AT § T QU F 85, 96 3G @ galRn
S EEd B g o F Huw ve A R g ‘sane' & T W & wruwa f)

Matrix | Matrix Il
2 7

®BBm|—|2|m|(=

~l=|m]|Z|l=|&

—|=|=]|= | ]|e

FSREIEY PR P 1=
Bl |E|o]=|
| | m | —
oo =M |
w oo |~ e fun
= (2| [=Z | e
2lmlo|=|c|o
E= N o = -
(= L ) 70N = S Y

Options:
1) 13,78,30,87

2) 22,41,65,11
3) 34,68,13,86

4) 41,85,22,58
Correct Answer: 22,41,65,11
Candidate Answer: 22,41,65,11

QID: 151 -

Arrange the fractions =, = ,—,—, = in their ascending order of magnitude.

Options:
1)

2 3 13 16 5
— e — T —
4 8B 16 29 12

2

3.5 16 3 13
B i i et

8 12 28 4 16

3)

3.6 16 12 3
g — =
8 12 29 1 4

4)

3 5 13 16 3
— = = — =
8 12 16 29 4
Correct Answer:

3 5 16 3 13
o T T ST g el
8 12 29 4 16
Candidate Answer:
3 5 16 3 13
— <

8 12 29 4 16

- Powered by IBT
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QID : 152 -

Calculate the value of i if J§=1 1320
(3++3)

_B__ g s aasa, @ J5-17320 &
(3++3)

Options:
1) 0.366

2) 0.566
3)0.356

4) 0.346
Correct Answer: 0.366
Candidate Answer: 0.366

QID: 153 -
Determine the value of 'a’ which satisfies the equation: 9 L 40F Z41F

'a' & A FT FRIROT Y, AT AR 0F +40°F - 417 FT Hase A &

Options:
1)1

2)2
3)3

4)4
Correct Answer: 4
Candidate Answer: 4

QID : 154 - 5 bottles cost as much as 2 bags. The cost of 15 bottles and 4 bags is Rs 2,000. What is the price (in Rs.) of a single bag?

5 Sidetl Y HEd 2 3T F SRR 81 15 Fidal 3R 4 71 6 Ha 2,000 % &1 A Yeh ST 1 Jed (T F) 1 82
Options:

1) 200

2) 215

3) 240

4) 250

Correct Answer: 200

Candidate Answer: 200

QID : 155 - If any two sides of a triangle are divided by the line in the same ratio, then the line must be to the third side of the triangle.

Frogat &t forelt off & oreit et Uen &1 SrguTa # e a1 § RsfSid foma S1rar 8, ot ag @ Regst &l ekt et & gt =1fdgl
Options:

1) equal

ERER

2) parallel
AR

3) perpendicular
ead

4) non parallel
R FAFIR

Correct Answer: parallel
LEIEIGN

Candidate Answer: parallel
AR
QID : 156 - If the radius of a circumscribed circle in an equilateral triangle is 14 cm. Then what will be the radius (in cm) of the inscribed circle?

e g st & ufkga ot s &t avams 14 S §1 39 st & srva:gd &t e & wems (IR, #) sarsit?
Options:

Correct Answer: 7
Candidate Answer: [ NOT ANSWERED ]
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QID : 157 - If 35% of (x +y) = 40% of (x — y), then x is what percentage of y?

af (x +y) &1 35% = (x — y) BT 40% &, @t x, y T fhamr ufaera &2
Options:

1) 1500

2) 150

3)15

4) 105
Correct Answer: 1500
Candidate Answer: [ NOT ANSWERED ]

QID : 158 - The ratio of two numbers is 6 : 11 and their difference is 65. What will be the smaller number among both the numbers?

@Y TReTaft T SrguTd 6@ 11 § AT S+TehT 3feR 65 31 &A1 TRearsit & & It e arm ghft?
Options:

1) 58

2) 65

3)52

4)78
Correct Answer: 78
Candidate Answer: [ NOT ANSWERED ]

QID : 159 - In a mixture of milk and water, there is 19% milk. If the quantity of milk in the mixture is 437 mililitres, then what is the total quantity (in millilitres) of
mixture?

T qUT ST o Gop MASIoT H, 19% U &1 I fAsror & o ol A 437 fefieliex g, at Misior & g wmn (Fefiefier #) T 82

Options:
1) 2300
2) 2200
3) 2350
4) 2400

Correct Answer: 2300
Candidate Answer: [ NOT ANSWERED ]

QID : 160 - If in the population of a town there is an increase of 44% in the first year and 75% in the second year, then what is the average rate of increase in the
population?
I Uen ex T S F uger a9 # 44% JUT g@R a¥ § 75% I g gt 8, af sreien 7 gfg i ofterd e @ 82

Options:

1) 45%

2) 59.5%

3) 74%

4) 76%

Correct Answer: 76%

Candidate Answer: [ NOT ANSWERED ]

QID : 161 - A sum of Rs 2000 becomes Rs 3645 in 2 years at a certain rate of compound interest. What will be the sum (in Rs) after 4 years?

ek 2000 % I A Tehgfeg sarst 6t ek AfYd v @ 2 af & 3645 % & Sredt 21 4 aef ugyra Wi (3 7) = ghft?

Options:
1) 5942.125

2) 6643.0125
3) 7243.0125

4) 7498.125
Correct Answer: 6643.0125
Candidate Answer: [ NOT ANSWERED ]

QID : 162 - Mohit sells a table at a profit of 25%. If he reduces its selling price by Rs 240, then he suffers a loss of 5%. What was the initial selling price (in Rs) of the
table?

A Tk AT 25% o A1 WR a1 &1 afe a8 39 fasha 7o Y 240 T J A I ST 8, 1 3T 5% i 8T Bielt &1 79T 1 SIRIHek faeha e (% ) m ur?
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Options:
1) 800
2) 1000
3) 1040

4) 1120
Correct Answer: 1000
Candidate Answer: [ NOT ANSWERED ]

QID : 163 - If two successive discounts of 25% and 30% are given, then what will be the ratio of marked price to selling price?

& 25% TAT 30% I & ehfFeh e & St &, f Sifchd e o1 foeha e & R SrguTd gim?

Options:
1)20:7

2)40: 21
3)20:17

4) 40:33
Correct Answer: 40 : 21
Candidate Answer: 40 : 21

QID : 164 - If 49 is subtracted from the square of a number, then the result obtained is 576. What is the number?

Tfe eh T & aif B ¥ 49 &l gerar ST §, 9t alRoms 576 ured glar &1 Tke R 82

Options:
1)24

2) 25
3)23

4) 27
Correct Answer: 25
Candidate Answer: 25

QID : 165 - P, Q and R together can make a table in 40 minutes. P and Q together can make it in 60 minutes. How much time (in minutes) will R alone take to make the
table?

P, Q T R fAretent Ter Tt et 40 fiee & a1 dand &1 P a1 Q fieia 38 60 e & a1 Gahd §1 R 31hall 39 H&T ol a9  fohaem 93 (e &) vm?
Options:

Correct Answer: 120
Candidate Answer: [ NOT ANSWERED ]

QID : 166 - Two trains are running in opposite directions with the same speed. If the length of each train is 486 metres and they cross each other in 27 seconds, then

what is the speed (in km/hr) of each train?

3} Yermfear Tam i @ fudta fexmet & 9 W@ €1 afe e ISl i as 486 Hier & IUT 3 Toh IR Y 27 VoS H UR et §, At Uien Yo bl 1 (k.. /eier F) i &2
Options:

Correct Answer: 64.8
Candidate Answer: [ NOT ANSWERED ]
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QID: 167 -

The line graph shows the number of students admitted
in the given year to a certain university. Study the diagram
and answer the following questions.

T W@ A% e faRee [eaficaem & fav Ry aw
a¥ # grf@er Y T oEt 1 FEar @ e w8l
T T F 3eTT4 : 3R Ffaf@a gt & 3w ¢

Admissions / IT&&T

2011 i} ¥ 013 oi4 015 016 017

Year/ a¥

In which year were admissions greater than that of the previous year?

forg anf & fireset anf &t o & arfRaret <t we arfdrens oft?

Options:
1) 2013
2) 2012
3) 2015
4) 2014

Correct Answer: 2013
Candidate Answer: 2013

QID : 168 -

The line graph shows the number of students admitted
in the given year to a certain university. Study the diagram
and answer the following questions.

g W@ 9% v fafle fawafacaem & fou Ru aw
a¥ # gf@er R T oEr fr wEr @ g I gl
TH @ F 3eTT4 : 3R F=faf@a gt & 3w ¢

Admissions / ZIT&&T

2011 i} ¥ 013 oi4 015 016 017

Year/ a¥

What was the difference in admissions between the years 2016 and 2012?

T 2016 3R 2012 3 1= g ar&el A fohe=T SR o1?

- Powered by IBT
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Options:
1) 6000
2) 7500
3) 6500
4) 7000

Correct Answer: 7000
Candidate Answer: 7000

QID: 169 -

The line graph shows the number of students admitted
in the given year to a certain university. Study the diagram
and answer the following questions.

g W@ 7% v faflme faeafecaem & fov fu aw
a¥ & gf@er R T ot f FEar @ g W
TH 3N F Heggq w AR Aeafaf@a weat & 3caw &)

Admissions / ZIf@am

12000

10000 -

4000

2000 4

a -
2011 01 2013 2014 1015 016 017

Year/ a¥

Admissions in 2016 were greater than that in 2015 by

Iy 2016 # Y 31 af 2015 & g & 9 31fds 91
Options:

1) 117.50%

2) 137.50%

3) 45%

4) 55%

Correct Answer: 137.50%

Candidate Answer: [ NOT ANSWERED ]

- Powered by IBT
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QID:170-

The line graph shows the number of students admitted
in the given year to a certain university. Study the diagram
and answer the following questions.

Iz @1 9% Uw fafdee feafcgaew & fav feu aw
gy & gf@er R W oEl & g & g R g
30 NG M 3TTF : AR Arfeaf@a oeal & o] ¢

Admissions / ZIf&aT

10000 - 5500

12000

4000 -

2000 4

o
2011 i} ¥ 013 oi4 015 016 017

Year/ a¥

If average fees per student collected in 2014 was Rs 20,000 what were the total fees collected (in Rs lakhs) in 2014?

3R 2014 # Uit BT Gerfad i 715 319 i 20,000 % off, dF 2014 & Yarfa &I 72 et ThIE (@ = #) 7 of?

Options:

1) 1400

2) 1500

3) 1700

4) 1600

Correct Answer: 1400

Candidate Answer: [ NOT ANSWERED ]

QID : 171 - The perimeter and the breadth of a rectangle are 44 cm and 10 cm respectively. Find its area (in cm2)4

oh T o1 GRATT 3R diets shasr: 44 Fft. 3R 10 .M. §1 35T &thet (a1 .5, &) F1d 2
Options:

1) 60

2) 240

3)120

4) 180

Correct Answer: 120

Candidate Answer: 240

QID : 172 - What is the measure (in degree) of an exterior angle of a regular polygon of 9 sides?

9 T3l aTet Ueh FafAd Sgegst & aret ahtur ot AT (fS4t #) arm ghm?
Options:

1) 36

2) 40

3)30

4) 24

Correct Answer: 40

Candidate Answer: [ NOT ANSWERED ]

QID : 173 - Find the volume (in cm3) of a right circular cylinder of diameter 21 cm and height 10 cm.

21 § M. = ok 10 .5, FTE 10t Top o giTg St ol e (51 9. ) F1d el
Options:

1) 3118

2) 3275

3) 3621

4) 3465

Correct Answer: 3465

Candidate Answer: 3465
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QID : 174 - AABC is right angled at B. If mC = 60", then find the value of (cotA - 1/2).

AABC & B R @H&I0T 81 afé m2C = 60°, dF (COtA - 1/2) &l A Td @i

Options:

1) -1/v3

2) (3-v2)/3v2

3) (2v3-1)/2

4) (V2-v3)/V6

Correct Answer: (2v3-1)/2

Candidate Answer: [ NOT ANSWERED ]

QID : 175 - In AABC measure of angle B is 90", If cosecA = 13/12, and AB = 10cm, then what is the length (in cm) of side AC?

AABC # o1 B &1 |19 90° 81 af& cosecA = 13/12 3R AB = 10 €41, &, at oot AC &t wiag (& . &) amr &2
Options:

Correct Answer: 26
Candidate Answer: 26

QID : 176 - The modern economy is NOT characterized by

areyfen srefegaen &t faRivar 78l & I

Options:
1) self-sufficient village system
STHTHR TTH-HoTTet

2) development of money economy
Hifgen srefeawen a1 fm

3) capital intensive mode of production
ot T8 SedTe

4) production for market

IR & forg Iare

Correct Answer: self-sufficient village system
STeAfAR a-

Candidate Answer: self-sufficient village system

Sreafaelk am-gomeft

QID : 177 - During which Five Year Planning was NABARD established?

fora daadffa gt & SR ATETS Y 2T g8 of?

Options:
1) Fifth
uieErat

2) Sixth
BT

3) Third

RN

4) Ninth

rat

Correct Answer: Third

Candidate Answer: Fifth
s

QID : 178 - Which of the following is not counted under sub-vedas?

77 & @ @i Sude & Siaefa &t i smar &2
Options:

1) Ayurveda

2) Yajurveda

3) Gandharva Veda
Tiedde

4) Shilp Veda
few ag

Correct Answer: Yajurveda

Candidate Answer: Yajurveda
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QID : 179 - Who built the Moti Masjid in the Red Fort of Delhi?

Tt & et fonet & Al AfeSTg @ fafor forert famam am?

Options:
1) Akbar
3TheR

2) Jahangir
STEiR

3) Shah Jahan
RIGER]

4) Aurangzeb
TS

Correct Answer: Aurangzeb
Candidate Answer: [ NOT ANSWERED ]

QID : 180 - What is Syzygy?

fafSHlt (syzygy) @1 8?

Options:

1) Position of sun, earth and moon in the straight line

T, gedft T T Al o B el Y A ffa

2) Earth's position between Sun and Moon

T quT T & ot g i Ry

3) Sun and Moon position on one side of the Earth

qeeft & e &1 SR g T = ol R

4) The right angle position of Moon from the Sun and Earth
T i et g By G R

Correct Answer: Position of sun, earth and moon in the straight line
Y, gecht ot T R g & deft Far A f@fy

Candidate Answer: Position of sun, earth and moon in the straight line
T, gedft o T il e Y et Y A fRf

QID : 181 - Which of the following is NOT a part of the Western coastline?

frafafEa & 9 wiF-a1 ae affet 9 @ ww g 87

Options:
1) Kathiawar Coast
G

2) Konkan Coast

SiehuT d¢

3) Malabar Coast

HATATIR dC

4) Coromandel Coast
gt dC

Correct Answer: Coromandel Coast
igel ac

Candidate Answer: Konkan Coast
dc

QID : 182 - Which of the following pair is matched correctly?

FfafEa § eF-a1 g 98 gaferd 82
Options:

1) Bharatanatyam - Andhra Pradesh
ARATETH - ST

2) Kuchipudi - Madhya Pradesh
PRIgS! - Aeg Haar

3) Kathakali - Kerala

HYUTHAT - PA

4) Kathak - Tamil Nadu

hYch -

Correct Answer: Kathakali - Kerala
T - B

Candidate Answer: Kathakali - Kerala
A -

- Powered by IBT

QID : 183 - According to the Indus water treaty which river will be not governed by Pakistan?

iy 5ot TrEia & SIgUR -+t & urfohea™ g7 2N 781 87
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Options:
1) Indus

2) Chenab

IERIC

3) Jhelum

e

4) Ravi

It

Correct Answer: Ravi

Candidate Answer: Ravi

QID : 184 - Which film has been awarded with best Environment film in 64th National film awards?

643 TE fther &R A fohd fthedt &t Taferor R semia e9rs fhed ol REAR e forar mam?

Options:

1) Kassav
EIc)

2) Dashkriya
CRIER

3) Ventilator
IR

4) The tiger who crossed the line

T TTR § IS & ATSA

Correct Answer: The tiger who crossed the line
T TTR § IS § AT

Candidate Answer: [ NOT ANSWERED ]

QID : 185 - Myanmar shares around border with India.

IR YR & QT 1T Y T TT3T AT &1
Options:

1) 1,238 km

1,238 foreft.

2) 1,338 km

1,338 fare.

3) 1,438 km

1,438 fopeft.

4) 1,643 km

1,643 fare.

Correct Answer: 1,643 km
1,643 fare.

Candidate Answer: 1,338 km
1,338 fame.

QID : 186 - Which of the following statements are CORRECT?

I. Melamine is a Thermosetting plastic.
II. It resists fire.
Il It is a poor conductor of heat.

frfafea & § a9 & T | 82

|. ATHTS ek YHTATET winfeees &1
I1. T 31T T TR ST B

I11. T ST T FraTeren & |
Options:

1) Only land Il

hadt | gt I

2) Only I and I
hadt | g Il

3) Only Il and Il
et || il

4) All1, 1land 1Nl
I, 11 a2 1 gf

Correct Answer: All |, Il and [ll
I, 1l [ gef

Candidate Answer: [ NOT ANSWERED ]

QID : 187 - Which of the following is the best fire-extinguisher?
FfafEd 7 § 999 sreT SifHRme &iF 82
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Options:
1) Water
STt

2) Oxygen
STeRoT

3) Carbon-dioxide

e ST SeTsS

4) Soil

ar

Correct Answer: Carbon-dioxide
SieES

andidate Answer: Oxygen

QID : 188 - Which part of the Indian Constitution deals with Amendment of the Constitution?

YR iy &1 T I1 9T SfdemE & e & IR F gdran g?

Options:
1) Part XIV
a1t XIV

2) Part XVI
ART XVI

3) Part XVIII
AW XVIII

4) Part XX
AT XX

Correct Answer: Part XX
AR XX

Candidate Answer: Part XIV
AT XIV

QID : 189 - Who can make laws for Union Territories on any subject under the three lists Viz. union list, state list and concurrent list?

& gt wnfer e g, o g e ga gt & sfanfa fag g fanedt oft Rt wR g anfa vt & forg R S ST Teka 27

Options:
1) The President of India alone
FHad IRA &

2) The Parliament

e

3) The Prime Minister of India
WRA & TYTH

4) Home Minister of India
R & g

Correct Answer: The Parliament
q49¢

Candidate Answer: The President of India alone
IR &

QID : 190 - Pepsin is an enzyme that digests .

IR TR ISTRAE S &t =T gl

Options:
1) proteins

2) starch

wr

3) carbohydrate
FrEIEIT

4) fats
q4r

Correct Answer: proteins

Candidate Answer: proteins

QID : 191 - Which is the CORRECT pair of inherited chromosomes for the child to be a girl?

fafafEa 8 @ @i a1 3] & deht 87 & forg d=mgra TorgET 1 |l ST 8?2
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Options:
1) X from father and Y from mother

g X quraaray

2) Y from father and X from mother
U Y qur A1 @ X

3) Y from father and Y from mother
ATy qnamar gy

4) X from father and X from mother
O @ X qur A1 & X

Correct Answer: X from father and X from mother
AT & X a1 Arar 9 X

Candidate Answer: X from father and X from mother
AT & X a1 Arar 9 X

QID : 192 - How much loan has the World Bank agreed to provide to the Government of India for ‘National Biopharma Mission’ named i3'?

Rd TRR hl TS 3’ ATHG TR FRAGET A & forg fasy e = foh=m ko 37 & ggafa & &2

Options:
1) USD 255 million
255 faferm sl Sierk

2) USD 125 million
125 3R STeR

3) USD 100 million
100 3Rt Sfelk

4) USD 400 million
400 M SR

Correct Answer: USD 125 million
125 Rt SfeRk

Candidate Answer: [ NOT ANSWERED ]

QID : 193 - Which of the following company has launched secret Zuma Mission for United States government?

Frafafea & & fhg st 3 Sy T Sl TR & g e SET i & atenrdor fohar 82

Options:

1) Sierra Nevada Corporation
A AareT HRURA

2) XCOR Aerospace

TeRTehR QR

3) SpaceX

g T
4) Boeing
CIEY!

Correct Answer: SpaceX
TG g

Candidate Answer: SpaceX
TG g

QID : 194 - In May 2017, the Base year of All India Index of Industrial Production (IIP) has been revised to .

7§ 2017 3, Sfieifiien It & HfRae YRR Yaehich (SEemsdY) & serR aef ot Wi avedh = e mar 1

Options:
1) 2011-12

2) 2015-16
3)2016-17

4) 2012-13
Correct Answer: 2011-12
Candidate Answer: 2015-16

QID : 195 - In April 2017, Agriculture Ministry Unveiled Model APMC Act. This is to give more freedom to sell their produce. What does ‘M’ stand for in ‘APMC’ act?

3 2017 &, B Farer 7 Aiee ghiea sifdf e e srTervT foRan| ag Sraa IeeH ot e & forg S1fdies Wdarar 37 & forg 81 gt sifdfaam & ‘ow’ o1 o aref 22

Options:
1) Managing
aAfshr

2) Market

AThe

3) Modifying
A Shn

4) Ministerial

fafRaa

Correct Answer: Market
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Candidate Answer: Market

QID : 196 - Find the resistance (in mega Q) of a wire of length 20m, cross sectional area 1 cm? and made of a material of resistivity 200 Qm.

20 #t. 5 foreht g & AR 1 wfaRieres (AMQ H) F1d AR fSIAehT SIgURY ShIe &l &5thel 1 37 9.7, & T o1g & uaref & ufaRiererdT 200 Om g1
Options:

4) 2000
Correct Answer: 40
Candidate Answer: [ NOT ANSWERED ]

QID:197-1In motion of a body its velocity varies with time.

__ Tfad & gug & gry gRafdd glar 81
Options:

1) uniform

ThgA™

2) linear

e

3) equilibrium

q=

4) non-uniform

STHAT

Correct Answer: non-uniform
STHAT

Candidate Answer: linear
el

QID : 198 - Air moves from the region where the air

U 9ed ___ Tfd exdl 8l

Options:

1) humidity is high to the region where the humidity is low
e ST ATt &1 J A SMTEaT dTet &7 i 3R

2) pressure is low to the region where the pressure is high
&Y TS dTet & T 3Hfdh ITe aret &7 Y 3R

3) pressure is high to the region where the pressure is low
3Tk AT &Te aTet &5 § A a1 319 aTel & T 3R

4) humidity is low to the region where the humidity is high
A AT ATt 8 & A SHdar aTet 8 Y 3R

Correct Answer: pressure is high to the region where the pressure is low

S1fAh g e aTel 8 § A aTg e ATt & i 3R

Candidate Answer: pressure is high to the region where the pressure is low

S1fAh aTg ae ATl 8 § A aTg e ATt & & 3R

QID : 199 - Which of the statements given below are correct?

A) In 2018 IPL auctions, Delhi Daredevils retained Rishabh Pant.
B) In 2017, Daniel Ricciardo raced in Formula One for Red Bull Racing.
C) Lewis Hamilton won the Formula One 2017 Malaysian Grand Prix.

T dd s arTsrm g &?

A) T 2018 i siige et # fRecht SarSfes 3 Fwer = &t R fmam
B) a¥ 2017 & gt Rerret = wide a7 # ¥ go1 37 & forg g e

C) T34 &ffiee A wide =1 2017 HAfRwa 71 Oy Sfiefh

Options:

1) Only A

Fhad A

2)AandC
ASRC
3)BandC
BsfRC
4) Aand B
A3RB

Correct Answer: A and B
A3RB

Candidate Answer: B and C
B3fRC
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QID : 200 - In Microsoft Word, under character formatting is used to superscript and subscript.

HISehIETOE IS H, e WiHfT & ofaifd ____ o1 suah ufe (Ymfere) ofk ureis (Fafne) & fog fomar Simar 81

Options:

1) Font style
i Left

2) Underline
ST

3) Effects

'R IC)

4) Size
ThR
Correct Answer: Effects
U

Candidate Answer: Effects
g






